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Question 1 of 46

Section A: 40 marks (2 marks each) 
 
Choose the correct answer. 
 
The value of the digit 8 in 804 is ______.

A) 8

B) 80

C) 84

D) 800

Question 2 of 46

What is 100 more than 491?

A) 391

B) 481

C) 501

D) 591
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Question 3 of 46

7 groups of 3 = ______

A) 10

B) 21

C) 24

D) 37

Question 4 of 46

50 ÷ 5 = ______

A) 5

B) 2

C) 10

D) 45

Question 5 of 46

The length of the pencil below is about ______ cm. 
 

A) 7

B) 8

C) 9

D) 11
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Question 6 of 46

What is the mass of the pineapple? 
 

A) 302 g

B) 320 g

C) 307 g

D) 370 g

Question 7 of 46

The mass of the basket of eggs is _______. 
 

A) as heavy as 1 kg

B) more than 1 kg

C) less than 1 kg

D) 1 kg
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Question 8 of 46

Study the clock carefully. 
 

 
 
The time is ________.

A) 12.07

B) 12.35

C) 1.35

D) 7.03

Question 9 of 46

6¢ = ________

A) $0.06

B) $0.60

C) $6

D) $60
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Question 10 of 46

What is the total amount shown? 
 

A) $16.40

B) $20.50

C) $21.05

D) $21.40

Question 11 of 46

Five dollars and fifty cents is the same as _________.

A) $5.05

B) $5.50

C) $50.05

D) $50.50

Question 12 of 46

Which of the following amounts has the smallest value?

A) $81.10

B) $80.20

C) $81.20

D) $80.10
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Question 13 of 46

What fraction of the figure is shaded? 
 

A) 4/5

B) 5/5

C) 4/9

D) 5/9

Question 14 of 46

4/6 + 1/6 = _______

A) 3/6

B) 5/6

C) 3/12

D) 5/12
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Question 15 of 46

Look at the pattern below. What is the missing solid?
 

A)

B)

C)

D)

Question 16 of 46

Add 4 tens and 5 ones to 495.

A) 440

B) 450

C) 504

D) 540

Question 17 of 46

What is the missing number in the blank? 
 

9 twos = ? x 3

A) 18

B) 15

C) 6

D) 5
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Question 18 of 46

The paper clip is _______ cm shorter than the comb. 
 

A) 8

B) 6

C) 3

D) 12

Question 19 of 46

The clock shows the time now. 
What was the time one hour ago? 
 

A) 2.50 p.m.

B) 3.50 p.m.

C) 4.50 p.m.

D) 5.50 p.m.
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Question 20 of 46

The picture graph shows the number of animals in a farm. 
Study it carefully and answer the question. 
 

 
 
How many more ducks than horses are there?

A) 5

B) 8

C) 10

D) 22

Question 21 of 46

Section B: 40 marks (2 marks each) 
 
Work out the following sums. 
 
Write 392 in words. 
 
Ans: ___________________.

Question 22 of 46

5 less than 990 is _______.
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Question 23 of 46

Complete the number pattern. 
 
_______, 650, 651, 652, ________, 654

A) 640 and 650

B) 645 and 655

C) 649 and 653

D) 649 and 655

Question 24 of 46

Arrange the following numbers in order, beginning with the greatest number. 
Put ‘space’ or ‘,’ between your answers. 
 

 
 
Ans: _________, _________, __________ 
        greatest

Question 25 of 46

600 - 183 = ________

Question 26 of 46

6 x 4 = ________
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Question 27 of 46

80 ÷ 10 = ______

Question 28 of 46

Arrange the houses from shortest to the tallest. Put ‘space’ or ‘,’ between your answers. 
 

 
 
Ans: House ______, House _______, House ________ 
                 shortest

Question 29 of 46

How many straight lines and curves does the figure have? 
 

 
 
Ans: _________ straight lines and _________ curves.

A) 3 straight lines and 2 curves

B) 4 straight lines and 3 curves

C) 5 straight lines and 4 curves

D) 6 straight lines and 5 curves
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The picture graph below shows the number of sweets five children have. 
 

 
 
How many sweets do Bob and Ethan have altogether? 
 
Ans: _________
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Question 31 of 46

The picture graph shows the number of sweets five children have. 
 

 
 
How many sweets must Dan give Ali so that both of them will have the same number of
sweets? 
 
Ans: __________

Question 32 of 46

Ahmad used the three cards to form the greatest 3-digit even number. What is the number? 
 

 
 
Ans: _________
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Question 33 of 46

What is the missing number in the box? 
 

 
 
Ans: ________

Question 34 of 46

 
 
Ans: ________

Question 35 of 46

Lily ran 400 m in a park. Jay ran 150 m more than Lily. What was the total distance Lily and
Jay ran? 
 
Ans: _______ m
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Question 36 of 46

The diagrams below show the masses of some pumpkins and durians. 
Each pumpkin has the same mass. 
Each durian has the same mass. 
What is the mass of each durian? 
 

 
 
Ans: _________ kg

Question 37 of 46

Sam started jogging at 7.00 a.m. He jogged for 30 minutes. 
Lina finished jogging 15 minutes after 7.00 a.m. 
Who finished jogging later? 
 
Ans: _________

Question 38 of 46

Mrs Wong bought 10 books. Each book cost $4. She gave the cashier $50. How much
change did she get? 
 
Ans: $ ________
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Question 39 of 46

The figure below is made up of 8 equal parts. What fraction of the figure is not shaded? 
 

 
 
Ans: ________

Question 40 of 46

Fill in the boxes with the digits '3', '4', '7' and '8' to get the greatest answer. What is the
answer? 
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Question 41 of 46

Section C: 20 marks 
 
Do the following sums. 
 
Siti has 422 stickers. 
She gives her brother 65 stickers. 
Her mother then buys her another 150 stickers. 
How many stickers does Siti have in the end?

Question 42 of 46

Jim bought 8 boxes of apples. 
There were 4 apples in each box. 
He ate 5 apples. 
How many apples had Jim left?

Question 43 of 46

Tom ate 1/7 of the cake and Anna ate 4/7 of the cake. James ate the rest of the cake. 
 
a) What fraction of the cake did Anna eat more than Tom?

Question 44 of 46

Tom ate 1/7 of the cake and Anna ate 4/7 of the cake. James ate the rest of the cake. 
 
b) What fraction of the cake did James eat?



4 ptsPrimary 2 Math (Term 4)

4 ptsPrimary 2 Math (Term 4)

Question 45 of 46

Mr Tan sold 374 pies on Monday. 
He sold 192 fewer pies on Monday than on Tuesday. 
How many pies did Mr Tan sell on both days?

Question 46 of 46

Meimei baked 52 cookies. 
She gave the cookies equally to her friends and had 7 cookies left. 
If each friend received 5 cookies, how many friends received the cookies from Meimei?


